Test 15.3.2013 VKD
Name:
Zeit: 45 min
Punkte
1 | Bitte berechnen Sie die Unbekannten 8
a)
3 1., _ 21
—y X" 2Y= 716
Na 1 157
5 X+t U="g
b)
3 3 _ 4711
u 5r 7 50
5 . 6 _ 28
" 3u "T7r =5
2 | Bitte berechnen Sie die Unbekannte 2
1
"2 1 41
3 3y_s T 4 84
3 | Bitte berechnen Sie die Unbekannten 12

a)
6,5u - 5,6q + 2,3p = 3,9
- 4,3u + 4,3q + 7,9p = 12,2
2u - 8,79 - 2p = -64,3
b)

- 4(-3x - 2y) - 3(-3x + 8m) + 7(3y + 2m) + 3 =-125
- 8(-10x + 5y) - 8(3x + 2m) - 9(-2y - 5m) - 3 =65
- (-7x + 2y) - 8(2x - 8m) + 10(6y - 5m) - 5 = -142
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